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I )
the following instructions very cagre u?ly and strictly follow them :

Read

(;) This question paper contains 38 questions. All questions are
compulsory.

(ii) This question paper is divided into five Sections - A, B, C, D and
E.

(iii) In Section A, Questions no. 1 to 18 are multiple choice questions
(MCQs) and questions number 19 and 20 are Assertion-Reason
based questions of 1 mark each.

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA)
type questions, carrying 2 marks each.

(v) In Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are long answer (LA) type
questions carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been
provided in 2 questions in Section B, 3 questions in Section C,
2 questions in Section Dand 2 questions in Section E.

(ix) Use of calculators is not allowed.
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Two statements are given, one labelled Assertion (A) and the other

labelled Reason (R). Select the correct answer from the codes (a), (b), (c) and (d)

as given below.

(a)

(h)

r'c}
(d)

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Heason (It} are trug, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true and Reason (R) is false.

Assertion (A) is false and Reason (R) is true.
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